St. Andrews Scots Sr. Sec. School

9th Avenue, I.P. Extension, Patparganj, Delhi -110092
Session: 2025-2026

Subject: Mathematics Class: 111 Ch- 3 (Subtraction)

Questions to be done:

Warm up
Practice time (Pg-43,45) book

Ex1- Book
Ex2- Q.1, 4 Notebook
Ex3- Q-2,4 Notebook
Ex4- Q-1 Book
Q-2 (a) Notebook
Q- 3 Notebook

Ex5- Q-1 (b, c) Notebook
Q-2 (a, ¢) Notebook



Warm Up
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Practice Time Th
4 thousands = 3 thousands 10 hundreds

10 tens =9 tens 10 ones

©)

10 hundreds =9 hundreds 10 tens V4
2

4000 — 2357 =1643 1

Exercise-1

. (a) (i) Difference between 4020 and 5020 is 5020 — 4020 = 1000

b 0.2 0
-4 020
1 00 O

(b) (i) 3105 — 1048 = 2057

©
&
0
0

als 20

®
5
8
7

N = W

(c) (ii) 3885 — 1738 = 2147
So, 2147 must be subtracted.

OO
3 8 &85
-1 7 3 8
21 4 7
(a) 2 6 4 9 (b) 4 8 5 2 (c) 6 5 7 8
-1 4 0 2 -2 4 31 -3 51 7
1 2 4 7 2 4 2 1 3 0 6 1
d 7964 @ G ® ®0
-5 9 T D 3 ¥ 4.5 4 9 & 5
2 7 4 2 -1 3 4 8 -2 4 4 6
2 0 9 7 2 519
) OO n OO0
6 5 7 0 &9 53
-3 39 9 -5 9 6 4
3 1 7 3 2 9 8 9




Practice Time

Number -10 -100 -1000
2582 2572 2482 1582
3275 3265 3175 2275
4259 4249 4159 3259
8638 8628 8538 7638
6437 6427 6337 5437
7707 7697 7607 6707
Practice Time
1. 132 2. 124 3.0 4, 998 5. 0
6. 843 7. 348 8. 0 9. 999 10. 0
Exercise-2
L 000 010, 2 0000 O @
73K 6 2594 SEXX 1815
-475 :2////i74: 752 =3 7 1 (3//,/%753 716
259 4 7346 1815 553 1
. Q000 000 4 0000 000
b223 3788 Y'Y 2647
243 55////3:2 435 -1 8 5§ :3////;11 353
3788 6223 2647 4000




Exercise-3
1. Number of Hyundai cars sold = 3882 - 1795 = 2087 0O

SEH2
-1795
So, 2087 Hyundai cars were sold in that year. 2087
2. Number of fruit buns left = 2500 - 972 @@
) 25NN
= 1528 97y
S0, 1528 fruit buns are left to be sold. 159 8
3. Since 1897 > 1298, therefore, Sachin scored more runs.
060
1 897
-1298
599

S0, Sachin scored 599 runs more than Saurav.
4, Ratna will get back ¥ 3000 - 2754 = T 246 Q00

| SHRHA
S0, Ratna will get back < 246. _9 754

246




15

Exercise-4

(a) (iii) 0]O) ©OOO
3097 T 828
+4 7 2 3 -1 8 9 6
7 8 2 0 5 9 2 4
So, 3097 + 4723 — 1896 = 5924
® (i) OO clelele)
4 2 6 7 9 2.6 .8
+3 3 3 9 -7 6 0 6
7 6 0 6 1 6 5 9
So, 9265 — 4267 — 3339 = 1659
(a) ©) ®O
3619 2 01 8 029
+5 410 +3 110 -5 1 2 8
9 0 2 9 5 1 2 8 3 9 0 1
So, 3619 + 5410 — 2018 — 3110 = 3901
®» @ ©) ®®
2 80 5 16 2 9 77 68 6
+4 9 6 1 " 1 2 8 -1 75 7
7 7 6 6 1 78 7 6 0 0 9
So, 2805 + 4961 — 1629 — 128 = 6009
Total money spent by Riya =3 2750 + ¥ 650 O]O)
275 0
3400
Money left with Riya = ¥ 9250 - 3400 @@
¥ 4 9 250
So, Riya is left with ¥ 5850. 5 8 50

Total number of persons visited the zoo on the first two days
= 3257 + 2469 = 5726
OO
3 28 7
+2 4 6 9
b 7 2 6

Number of persons visited the zoo on the third day

OO ® =7920 — 5726 = 2194

792z B
-5 ¥ 2 B
2 1 9 4

So, 2194 persons visited the zoo on the third day.




Exercise-5
1. (a) 121 is rounded off to the nearest tens as 120.
91 is rounded off to the nearest tens as 90.

Estimated difference Actual difference
O]®) ©®
X .2 0 X2 1
- 90 - 9 1
30 30

Teacher's Resource Pack Mathematics-3

(b) 251 is rounded off to the nearest tens as 250.
203 is rounded off to the nearest tens as 200.

Estimated difference Actual difference
2 5 0 2 mx
—~7 0 0 -2 0 3
050 0 4 8

(c) 184 is rounded off to the nearest tens as 180.
156 is rounded off to the nearest tens as 160.

Estimated difference Actual difference
@lT)
1 80 1 & 4
-1 6 0 -1 5 6
0 20 0 2 8

2. (a) 598 is rounded off to the nearest hundreds as 600.
481 is rounded off to the nearest hundreds as 500.

Estimated difference Actual difference
6 00 5 9 8
-5 00 -4 8 1
1 0 0 1 1 7

(b) 632 is rounded off to the nearest hundreds as 600.
403 is rounded off to the nearest hundreds as 400.

Estimated difference Actual difference
®)
6 00 6 3.2
-4 0 0 -4 0 3
2 00 2.2 9

(c) 984 is rounded off to the nearest hundreds as 1000.

726 is rounded off to the nearest hundreds as 700.

Estimated difference Actual difference
35 0 0 , 20
= O 0 -7 2 &

9 O 0 2 5 8
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